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Mulliplcative Change
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What do [ need to be able feywords
to do? Proportion: a statemertt that links two ratios

Variable: a part that the vale can be changed
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By the end of this unit you should be able to: :
Oxes: horizortal and vertical nes that a graph is plotted around I
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: » Solve problems and explain direct
| provoten Qpproximation: on estimate for a valve
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" Use converson graphs o muke Scale Factor: the mutiple that increases/ decreases a shape in size

statements, comparisons and form
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: : Currency: the system of money used in a particular country
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conclusions
*  Understand and use scate factors for Conversion: the process of changing one variabke. to another
length Seale: the. comparison of something drawn to its actual size. I
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| lee(‘/t PfOPO(thﬂ Os one variable changes the other changes at “ COHV@fSiOY'I Graphs Compare two variables

the same rate
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| n < This is always a straight e because. as one variable I
| . This s a mutpicative change. || S el increases so does the other at the same rate I
| - 4 cars of pop = £240 < .. [l é ' |
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I 4 cars of pop = £240 <, ¥ Kcans of pop = £720 1 T To moke conversions between units you need to find the |
| p ; ca0 ¢S I point to compare — then find the associated point by |
| o Sometimes this is easiest [1 | Lobeling of both axes LSig Your groph |
I This muttivler is the same. if you work out how much [ i vital Using a rer felps for acciracy . I
I I the same. waiy that. this one. unt s vorth fist I Showing your conversion Ines help as a “check” for |
| would be. for ratio eq Leanof pop - £060 | 11 sobtiors |
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: Conversion between currerces Si= == o B : : Ratio between similar shapes :
| £1=90 Rupees Currency i directly proportiond I Ongles in simiar shapes do rot change I
| F £l } I eq it atriange gets bigger the angles can |
| or every o El790RupeesN o | ot gp dbove, 160° |
| have. 90 Rupees - = I
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£10 = 900 Rupees ‘
I CUW@Y\CQ can be. converted p : I The two rectangles are similar. :
I g Using ai conversion graph | 3o 45m
| i’i ? 7 Convert 630 Rupees into Pounds I 8m |
| < 00[ - ; / Cor | | Correspondng sides o Note I
I ~ - U RUpees D "~ —030-90-7 || ,~3m 45m~ _ An m bx Smplfy to the. |
I 0 Pounds 7 - 630 e : 'y im 5m lm 15m same fatio :
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| Understand Scale Factor : : Draw and interpret scale dagrams 11 Interpret maps with scale factors :
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I Th rectangles are 5|m| : : I I -0 100 - 1000 :
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| This is & multiplcative change : : 1 x 10 x 100 x 1000 :
| Use corresponding Dissing braih I
_ Ratios need to be in the
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| jc aelz t{;ﬁ ctglfulate a Il 10cm Image. - Real ife I same. units I
| I o b 3em Nx e 250m |
I [0cm = 300cm 4/ < ; |
I Seae factor con ako  Biager corres side 1 : : lom ;l5000c:\ 450 x 100 = 25000 |
| be cakuiated by Smaler correspmdmg Side I |
I The car in real ife I
I H is & 10cm Image - Real ife [l Fogoegérg e OY} rpg e I
A cm in real ife
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